Subject: Re: ArrayCtrl as a node of TreeCitrl
Posted by gapko on Mon, 11 Feb 2008 13:26:28 GMT

View Forum Message <> Reply to Message

In 2008.1beta | had similar problem. The size of tree node is wrongly calculated when there is
only Ctrl (and no Value) in node. The things were changed somewhere between 709.devl1 and
2008.1beta. Last week I've just fixed it for my purposes in my uppsrc (I'm sorry for not providing
the bug report yet), but | have focused only on the way how | am using the component. | vote for
fixing the problem in official sources by the author of the changes

| attach TreeCtrl.cpp and TreeCtrl.h for 2008.1beta fixing mine problems.

Gabi

File Attachnents

1) TreeCtrl.zip, downl oaded 520 tines
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